Subtracting Linear Expressions (I)

Simplify each expression.

—_

- (q-8)-(q+5)

[\

- (3p+7)-(p+1)

w

- -9(-w-9)-(8w+9)

N

(f-7)-8(-f-2)

Ul

- 2(8d-4)-(-6d +3)

[*))

. -9(9¢c+9) - (6¢c-3)

Ry

- (-5w+8)-9(3w-9)

5. (2t-2) - (-2t +8)

9. 3(-5m-7)-(8m +9)

10. 5(2y -1) - (5y - 2)
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Subtracting Linear Expressions (I) Answers

10.

Simplify each expression.
(q-8)-(q+5)
-13

(-3p+7)-(p+1)
-“4p + 6

- -9(-w-9)-(8w+9)

w+ 72

(-f-7)-8(-f-2)
7f+9

2(8d - 4) - (-6d + 3)
22d - 11

-9(9c +9) - (6¢c- 3)
-87c-78

(-5w+8)-9(3w-9)
-32w + 89

(2t-2) - (-2t + 8)
4t - 10

3(-5m-7) - (8m + 9)
-23m - 30

5(2y-1)-(5y-2)
5y-3
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